A projectile (m=2kg) is shot from a cannon at an initial angle of θ=30° with an initial speed of vo=40m/s. Assume the ball is shot from the origin. 
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[image: image2.png]a) Where is the peak of the object’s trajectory? When is this point reached?





[image: image3.png]b) At the peak of the object’s trajectory, a charge in the object is detonated and the
Objec( splits into two equal masses. One half leaves the explosion with a velocity

=-1 0] What is the velocity of the other half immediately after the
collision?





[image: image4.png]¢) Is Kinetic Energy lost, gained, or conserved in the explosion? Quantify your
answer.





[image: image5.png]d) Where do the two masses land on the ground?
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